Aun 4367 quaratwise, Arcl Asym: Bearm ON, Laser OFF
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Fun 4167 quanetwise. ISba2 Acym: Baam ON, Lasar OFF
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Flun 4367 cuanebwise, DSbg2 Asym: Baam ON, Lasar OFF
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Flun 4367 quarnetwise, LISba1 Asym: Baam ON, Lasar DFF
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Fun 4367 quanstwise, DSk Atym: Baarn ON, Lassr OFF
Fun 4367 quarnstwiss, Tap Finger Aty: Baarm OM, Lasér OFF
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Acc0 Asym (ppt):

1
lop Fingur Aawr

456.76 +/- 525.62

USbg1 Asym (ppt): -16.87 +/- 5.53
USbg2 Asym (ppt): -0.94 +/- 2.52
DSbg1 Asym (ppt): 0.14 +/- 1.22
DSbg2 Asym (ppt): -0.45 +/- 1.13

Top Finger Asym (ppt): 3.42 +/- 2.39
Side Finger Asym (ppt): 2.02 +/- 1.79
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Run 4367, quartetwiza: USbg1 vs time
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Run 4367, quartetwize: UISbg2 vs time
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